

$$\lim_n^n = a \quad \lim_{mn}^{m^n} = b \quad \lim_{mn}^{mn \times n} = b \Rightarrow 1 + \lim_{mn}^n = b$$

$$1 + \frac{1}{\lim_{mn}^{mn}} = b \Rightarrow 1 + \frac{1}{1 + \lim_n^m} = b \Rightarrow 1 + \frac{1}{1+a} = b \Rightarrow \frac{a+1}{a+1} = b$$

$$\frac{a+1}{a+1} < b < \frac{a+1}{a+1} \Rightarrow 1 < b < 2 \Rightarrow [b] = 1$$

سوال ۲

$$y = \sqrt{\frac{n}{\lim_{\frac{1}{p}}^n}} \quad \lim_{\frac{1}{p}}^n = 0 \Rightarrow x = \left(\frac{1}{p}\right)^0 = 1$$

چون $\lim_{\frac{1}{p}}^n$ نزديك صفر است، در انت، ريشه منفي مي شود.

n	0	1
y	-	+

$\lim_{\frac{1}{p}}^n \rightarrow x > 0 \quad \text{II}$

I $\cap$ II $\Rightarrow x < 1 \Rightarrow Df = (0, 1)$

ب) $y = \frac{\lim_{\frac{1}{p}}^{(x^2-x-2)}}{\sqrt{x^2-1}+1} \rightarrow$ كسري همواره مثبت مي شود

$\lim_{\frac{1}{p}}^{(x^2-x-2)} \rightarrow x^2-x-2 > 0$

n	-1	2
y	+	-

$(-\infty, -1) \cup (2, +\infty)$

$\sqrt{x^2-1} \rightarrow x^2 \geq 1 \rightarrow \begin{cases} x \geq 1 \\ x \leq -1 \end{cases} \quad \text{II}$

II $\supset$ I $\Rightarrow Df = (-\infty, -1) \cup (2, +\infty)$

سوال ۳

$$x \lim_n^a + \lim_n^{\sqrt{n}} = 2 \quad \lim_n^{a^2} + \frac{1}{x} \lim_n^n = 2 \Rightarrow \begin{cases} a > 0 \\ a \neq 1 \end{cases} \quad \text{I}$$

$$\lim_n^{a^2} + \lim_n^n = 2 \Rightarrow \lim_n^{a^2} + \frac{1}{\lim_n^{a^2}} = 2 \xrightarrow{\lim_n^{a^2} = t} t + \frac{1}{t} = 2$$

$$t^2 - 2t + 1 = 0 \rightarrow (t-1)^2 = 0 \rightarrow t = 1 \quad \lim_n^{a^2} = 1 \xrightarrow{x=1} \lim_n^a = 1$$

$a^2 = 1 \Rightarrow \begin{cases} a = 1 \\ a = -1 \end{cases}$ ❌

$\log r \approx 0.1 \mu$ $\log r \approx 0.1 \varepsilon$ $(\log \frac{\omega}{r}) x^r + (\log r) x - \log \omega = 0$
 $1 - \log r = \log \omega \Rightarrow \log \omega = 1 - 0.1 \mu = 0.9$

$$(\log \omega - \log r) x^r + (r \log r) x - (\log r + \log \omega) = 0$$

$$(0.9 - 0.1 \varepsilon) x^r + (r \times 0.1 \varepsilon) x - (0.1 \varepsilon + 0.9) = 0 \quad 0.1 \mu x^r + 0.1 r x - 1 = 0$$

$$\mu x^r + r x - 1 = 0 \Rightarrow \frac{\sqrt{5}}{10} = \frac{\sqrt{9r^2 + 1\mu}}{\mu} = \frac{1 \varepsilon}{\mu}$$

$\log r = 0.1 \mu$ $\log r = 0.1 \omega$ $\log \frac{1}{\varepsilon} = ?$ $\log \frac{r}{\omega} = \frac{\log r}{\log \omega} = \frac{0.1 \mu}{0.9} = \frac{1}{9}$ (سؤال ١٢)

$$\log_{1/\varepsilon} \omega \times r = \log_{1/\varepsilon} \omega + \log_{1/\varepsilon} r = \frac{1}{\log_{1/\varepsilon} \omega} + \frac{1}{\log_{1/\varepsilon} r} = \frac{1}{\log_{1/\varepsilon} \omega} + \frac{1}{1 + \log_{1/\varepsilon} r}$$

$$= \frac{1}{1/\varepsilon + 0.1 \omega} + \frac{1}{1 + 0.1 \mu} = \frac{1}{1/9} + \frac{1}{10} = \frac{9}{1} + \frac{1}{10} = \frac{90 + 1}{10} = \frac{91}{10} = 9.1$$

$\log_{1/\varepsilon} \omega = 1/\omega$ $\log_{1/\varepsilon} r = \frac{1}{1/9} = 9$ $\log_{1/\omega} r = ?$ $\log_{1/\omega} r = \frac{\log r}{\log \omega} = \frac{0.1 \mu}{0.9} = \frac{1}{9}$ (سؤال ١٦)

$$\log_{1/\omega} r \times r = \log_{1/\omega} r + \log_{1/\omega} r = \frac{1}{1 + \log_{1/\omega} r} + \frac{1}{\log_{1/\omega} r + \log_{1/\omega} r} = \frac{1}{1 + 1/\omega} + \frac{1}{1/\varepsilon + 1/\mu}$$

$$\frac{1}{1/\varepsilon} + \frac{1}{\varepsilon} = \frac{\varepsilon + 1/\omega}{1} = \frac{9/\omega}{1} = 0.9 \omega$$

(سؤال ١٧)

$\log_{1/\varepsilon} r = m$ $\log_{1/\varepsilon} r$ $\frac{1}{r} \log_{1/\varepsilon} r = \frac{1}{r} (\log_{1/\varepsilon} r \times r) = \frac{1}{r} (1 + r \log_{1/\varepsilon} r) = m$

$$\Rightarrow \frac{r m - 1}{r} = \log_{1/\varepsilon} r, \quad \log_{1/\varepsilon} r = \frac{1}{r} \log_{1/\varepsilon} r = \frac{1}{r} (r + \log_{1/\varepsilon} r)$$

$$\frac{1}{r} \left(\frac{r m - 1 + r}{r} \right) = \frac{r m + r}{r} = \frac{r}{\varepsilon} (m + 1)$$

سوال ۸

$$(10/2)^{n-1} = \left(\frac{115}{\lambda}\right)^{n-1} \quad \left(\frac{1}{5}\right)^{n-1} = \left(\frac{5}{r}\right)^{n-1}$$

$$\left(\frac{5}{r}\right)^{-(n+1)} = \left(\frac{5}{r}\right)^{n-1} \Rightarrow r^{n^2+n-1} = 5^{2n} (n+1)(n-1) \begin{cases} n = \frac{1}{2} = -1 & \text{عق} \\ n = \frac{1}{2} & \text{عق} \end{cases}$$

$$\lim_{n \rightarrow \infty} r^{n+1} \Rightarrow r^{n+1} > 0 \quad n > \frac{1}{9} \quad \lim_{n \rightarrow \infty} r^{\frac{1}{n}+1} = \lim_{n \rightarrow \infty} r^{\frac{1}{n}} = \sqrt[n]{r} = \boxed{\frac{r}{r}}$$

سوال ۹

$$\lim_{r \rightarrow a} r^b = \frac{r}{r} (1+a) \quad \lim_{r \rightarrow b-1} r^b = ?$$

$$\lim_{r \rightarrow a} r^b = \frac{r}{r} (1+\lim_{r \rightarrow a} r) \Rightarrow \frac{1}{r} \lim_{r \rightarrow a} r^b = \frac{r}{r} \lim_{r \rightarrow a} r^c \Rightarrow \lim_{r \rightarrow a} r^b = \lim_{r \rightarrow a} r^c$$

$$\lim_{r \rightarrow 1} r^{(r^2)-1} = \lim_{r \rightarrow 1} 1.0 = \boxed{2}$$

سوال ۱۰

$$-Fax^2 + bx + \frac{1}{r}C = 0 \quad \frac{1}{a+b} = \lim_{x \rightarrow \infty} \epsilon \quad a = \frac{b+C}{r} I$$

$$\frac{1}{\frac{-b}{r(-\epsilon a)}} = \lim_{x \rightarrow \infty} \epsilon \Rightarrow \frac{1}{a} = \lim_{x \rightarrow \infty} \epsilon \Rightarrow \frac{\epsilon a}{b} = \lim_{x \rightarrow \infty} r \Rightarrow ra = \lim_{x \rightarrow \infty} r^2 b \Rightarrow a = \frac{\lim_{x \rightarrow \infty} r^2}{\epsilon} b$$

$$I \Rightarrow ra = b+C \Rightarrow b \left(\frac{\lim_{x \rightarrow \infty} r^2}{r} - 1 \right) = C$$

$$\left(r^{-\frac{1}{\lambda}}\right)^{\frac{1}{\epsilon}} = \left(r^{-\frac{1}{\lambda}}\right)^{\frac{\frac{r}{b}(\lim_{x \rightarrow \infty} r^2 - 1)}{b(\lim_{x \rightarrow \infty} r^2)}} = \left(r^{-\frac{1}{\lambda}}\right)^{\frac{r(\lim_{x \rightarrow \infty} r^2 - \epsilon)}{\lim_{x \rightarrow \infty} r^2}} = r^{-\frac{1}{\lambda} \left(\frac{\lim_{x \rightarrow \infty} r^2 - r}{\lim_{x \rightarrow \infty} r^2} \right)}$$

$$= r^{-\frac{1}{\epsilon} \lim_{x \rightarrow \infty} \frac{r}{100}} = r^{\lim_{x \rightarrow \infty} \left(\frac{r}{100} \right)^{-\frac{1}{\epsilon}}} = \left(\frac{r}{100} \right)^{-\frac{1}{\epsilon}} \lim_{x \rightarrow \infty} r^{\frac{1}{\epsilon}} = \left(\frac{100}{r} \right)^{\frac{1}{\epsilon}}$$